VERS(ON 1
MATH 113 - QUIZ 1 - 4 SEPTEMBER 2012

Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without justification, even if they are correct, will earn no
credit.

1. (4 pts.) Consider the position function given by s(t) = 2 — t. Complete the following
table with the appropriate average velocities, then make a conjecture about the value of the
instantaneous velocity at ¢ = 1.

Time
Interval [1,2] (1,1.5] [1,1.1]
Average | S(D-SG) [S(L5) QY s -0
Velocity 2.~ le S—1 e

lel —/

= |® @

2. (2 pts. each) Use the graph of f(r) to find the following.
(a) lim f(z) = Q

r——1+

(b) lim f(z) = 2L

z——1"

© -y = S
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Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without justification, even if they arc correct, will carn no
credit.

1. (4 pts.) Consider the position function given by s(t) = 2¢3. Complete the following
table with the appropriate average velocities, then make a conjecture about the value of the
instantaneous velocity at t = 2.

Time

Interval 1,2] [1.5,2] [1.9,2]

Average | 9(D-S(\) |5(2)~S(L.5)| 5D ~SCUD
Velocity “;""“ —_— | Y7

2.~ 2-“/0?

S(2)-Si) ,
Guoss: [im - =23 Fual ancwer,
2 &7t 24
2. (2 pts. each) Use the graph of f(z) to find the following.
(a) lim f(z) — S

z—1t+

(b) lim f(z) = &f

r—1-

@I/ = 2
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Answer all of the following questions in the space provided. Show all work as partial
credit may be given. Answers without justification, even if they are correct, will earn no
credit.

1. (4 pts.) Consider the position function given by s(t) = —2t +6t. Complete the following
table with the appropriate average velocities, then make a conjecture about the value of the
instantaneous velocity at t = 3.

Time
Interval 2, 3] [2.5,3] 2.9, 3]
Average 5 (1) ~5(2) |S@~SEH[5(D-SCD
Velocity 2>, 2o T

Suacs - im S50 ==

L>3 3 —¢
2. (2 pts. each) Use the graph of f(z) to find the following.

(@) Jim fx) = &

z—3+

(b) lim f(z) = LIL

z—3~

@ /8 = &f
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